IF U= 2(LOOP)Z, THEN DU = (?).

Choose a function to substitute for u.

1) f2x(x2 +1)°dx

3) f2xx/x2+1 dx

4) f3x2(x3 +1)°dx

5) f sin®(x) cos(x)dx

2X

D )
cos(x)

& f sin(x) e

7) —fsin(x)e‘“’s(")dx

sin(x)

8) _f Ccos3(x) ©4

9) j tan3(x) sec?(x)dx

10) j cOS(X)+/1+ sin(x) dx

e e bl s

Letu=(?).
A. u=sin®(x) [p. u=1+sin(x)[L. u=cos(x) |mM. u=x2 0. U=Xx2%+1
P. U = sin(x) R. u=tan3(x) |s. u=e¢* (- u=tan(x) ) U=x%+1
8 |1 16 10 0 | 7 | 2 [ 3|5 | a

WHAT POLITICAL MOVEMENT AIMS TO
PREVENT THE TEACHING OF CALCULUS
IN HIGH SCHOOLS?

For the indefinite integrals 1) — 10) above, 1a) — 10a) du= (?).

A. du = 3x2dx

B. du = tan(x)dx

E. du = 2xdx

I. du = —sin(x)dx

K. du = sec(x)dx

M. du = sec?(x)dx

P. du =sin(x)dx

R. du = tan3(x)dx

s. du = e*dx

T. du = cos(x)dx

U. du = —cos(x)dx

v. du=(x®+ 1)dx

For the indefi

nite integrals 1) — 10) above, 1b) — 10b) give the indefinite integral.

A (@ +1)5+ k

D. 2 (3+1)%+ k

E. %(X2 +1)%2+ k

1

H.,4

sin4(x) + k

M. %tan"f(x) + k

N. —sec(X) + k

0. etk 4 k

P. sec(x) + k

P. sec3(x) + k

R. g—(sinx +1)%2 4+ k

T In0@ + 1) + k

v. In|sin(x)| + k

5a | 5b| 1a 4a

8b |10a| 7a 4b

3a |10b| 8a | 6b | 1b

2b| 8a | 6b | 1a

9a | 7b | 6b | 2a

9b | 3b | 8b | 6a
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